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S.S.L.C. EXAMINATION, MARCH - 2013 

PHYSICS (English) 
Time : 1 ½ Hours Total Score : 40 

Instructions : 

1) Fifteen minutes are given as 'cool off time'.

2) This time is given to read and understand the questions well.

3) For choice questions only one of them need to be answered.

4) The score of each question is given along with it .

�Choose the correct answer.
Colour of a star depends upon its H .

a). radius
b) distance from the earth
c) tern perature
d) mass

✓which of the following is not a fossil fuel.
a) Coal
b) Petroleum
c) Natural gas
d), Hydrogen
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